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A knot diagra cs  Cg €1 C2 (4 Co €11 C8

Ideals for irreducible component#ﬂ)f Xpar
It =2u® —4u®™ 4+ 40 +2, 20" + 20+ Fatu, 20— 20— 1)

I = (W?+0b, a+u, u* +u®+u®+1)

* 2 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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It = (2u*®—4u*S+. . +b+2, —2u?®4+2u*+. . -+atu, u"—2u*C+..
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs wlT =2t 2?21
C2,Cy4, Cg w120+ 4 — 1
c3,Cy w4+ 4 56u+ 16
cr ul” — 200 . 46920 — 241
cg, €10, C11 w5t 21




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs y47+12y46+--~—4y—1
€2, C4, Co YT+ A8y 4+ 20y — 1
€3, Co y'T 427y o — 1472y — 256
cr Y7 — 1297 + ... — 623952y — 58081
€8, €10 C11 YT — 45yt . — 14y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape

u = —0.323780 + 0.9514811
a = —1.040000 — 0.6459801 | —2.98908 — 5.015891 | —7.64324 + 7.882791
b= 0.039385 + 0.1527481

u = —0.323780 — 0.95148171
—1.040000 + 0.6459801 | —2.98908 + 5.015891 | —7.64324 — 7.882791
0.039385 — 0.1527481

0.279046 + 0.9469301
0.56107 — 1.314221 —5.33668 4-2.701971 | —9.52160 — 4.324031
—1.13319 + 1.304321

0.279046 — 0.9469301
0.56107 + 1.314221 —5.33668 — 2.701971 | —9.52160 + 4.324031
—1.13319 — 1.304321

—0.162628 4 1.0113401
—0.246189 + 0.3216961 | —10.43430 + 2.590191 | —12.08721 — 0.436541
—0.52431 — 1.506991

—0.162628 — 1.0113407
= —0.246189 — 0.3216961 | —10.43430 — 2.590191 | —12.08721 + 0.436541
—0.52431 + 1.506991

—0.228159 4+ 0.9241111
0.482803 + 0.4764401 | —3.55919 — 0.297841 | —10.26703 + 0.719161
0.496433 + 0.5697481

—0.228159 — 0.92411171
0.482803 — 0.4764401 | —3.55919 4+ 0.297841 | —10.26703 — 0.719161
0.496433 — 0.5697481

0.708344 + 0.6129501
—0.171277 — 1.0449001 | —4.59202 + 2.730531 | —5.50356 — 3.277521
0.358664 + 0.2378701

0.708344 — 0.6129501
= —0.171277 4+ 1.0449001 | —4.59202 — 2.730531 | —5.50356 + 3.277521
= 0.358664 — 0.2378701
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Solutions to I7*

V=1(vol + v=1CS)

Cusp shape

u = —0.356410 + 1.0119101
a= 1.414204 0.681051
b= —0.864275 — 0.4477651

—9.29934 — 8.731671

—9.77244 + 7.332681

u = —0.356410 — 1.0119101
a= 1.41420 — 0.681051
b= —0.864275 + 0.4477651

—9.29934 + 8.731671

—9.77244 — 7.332681

u=0.340688 + 0.7944231
a = —0.122254 + 0.6372671
b= 0.278704 — 0.5195601

—0.34710 + 1.735281

—0.42828 — 4.756971

u= 0.340688 — 0.7944231
a = —0.122254 — 0.6372671
b= 0.278704 + 0.5195601

—0.34710 — 1.735281

—0.42828 4 4.756971

u= 0.683839 + 0.9408871
a = —0.548528 — 0.3983621
b= 0.617662 — 0.0688271

—5.43573 4 2.439431

—7.50586 — 2.892641

u= 0.683839 — 0.9408871
a = —0.548528 + 0.3983621
b= 0.617662 + 0.0688271

—5.43573 — 2.439431

—7.50586 + 2.892641

u = —0.834781 + 0.8235391

a= 1.25208 4+ 1.375611 1.68842 + 0.667061 | —2.90341 + 0.1
b= —2.22075 + 1.028141

u = —0.834781 — 0.8235391

a= 1.25208 — 1.375611 1.68842 — 0.667061 | —2.90341 + 0.1

b= —2.22075 — 1.028141

u=0.815351 + 0.8454861
a= 1.63790 4 0.063631
b= —1.65919 — 1.455951

2.81443 +1.978411

—3.90653 — 2.245491

u=0.815351 — 0.8454861
a= 1.63790 —0.063631
b= —1.65919 + 1.455951

2.81443 — 1.978411

—3.90653 + 2.245491




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.857523 + 0.8242181
—1.55042 + 1.321281
2.82438 + 0.478471

4.54046 — 2.883101

—0.74757 + 2.681991

0.857523 — 0.8242181
—1.55042 — 1.321281
2.82438 — 0.478471

4.54046 + 2.883101

—0.74757 — 2.681991

0.885800 + 0.8064231
0.87468 — 2.176001
—3.02165 + 0.599431

—1.16589 — 7.059311

—3.99587 + 3.232071

0.885800 — 0.8064231
0.87468 + 2.176001
—3.02165 — 0.599431

—1.16589 + 7.059311

—3.99587 — 3.232071

—0.846893 + 0.8766611
—1.243050 — 0.5827121
1.61840 — 1.145081

6.78103 — 1.890761

3.32003 + 1.869901

—0.846893 — 0.8766611
—1.243050 + 0.5827121
1.61840 + 1.145081

6.78103 + 1.890761

3.32003 — 1.869901

0.789107 + 0.9375491
—0.18516 + 1.602901
1.69367 — 0.695411

2.52856 4 4.036411

—4.47860 — 2.877301

0.789107 — 0.9375491
—0.18516 — 1.602901
1.69367 + 0.695411

2.52856 — 4.036411

—4.47860 + 2.877301

—0.793086 + 0.9581971
—1.31875 — 1.116881
3.24344 — 0.253531

1.27181 — 6.750171

—3.82680 + 4.901421

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

= —0.793086 — 0.9581971

—1.31875 + 1.116881
3.24344 + 0.253531

1.27181 + 6.750171

—3.82680 — 4.901421




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —0.827450 + 0.9298081
= 0.652950 + 1.1013101
= —2.09248 — 0.311107

6.61449 — 4.340541

3.06304 + 3.524461

—0.827450 — 0.9298081
0.652950 — 1.1013107
= —2.09248 4- 0.311101

6.61449 + 4.340541

3.06304 — 3.524461

0.805855 + 0.9680081
= 1.48174 —1.447691
= —2.97050 — 0.635871

4.09177 + 9.074221

0. —7.571191

= 0.805855 — 0.9680081
= 1.48174 4 1.447691
= —2.97050 + 0.635871

4.09177 —9.074221

0.4+ 7.571191

= —0.880114 + 0.9210811
= 1.22606 — 1.287391
0.27179 + 2.455851

4.07979 — 3.251391

—6.94110+ 0.1

= —0.880114 — 0.9210811
= 1.22606 + 1.287391
= 0.27179 — 2.455851

4.07979 + 3.251391

—6.94110+ 0.1

0.811281 + 0.9913801
= —2.18383 4 0.737771
= 3.18948 4 1.964151

—1.74737 + 13.349701

0. —7.913251

= 0.811281 —0.9913801
= —2.18383 — 0.737771
= 3.18948 — 1.964151

—1.74737 — 13.349701

0.+ 7.913251

= —0.689977 + 0.1645271
= —1.53731 — 0.891421
= 0.350409 + 0.7859231

—6.58964 + 5.029381

—4.60471 — 3.198081

= —0.689977 — 0.1645271
= —1.53731 4+ 0.891421
= 0.350409 — 0.7859231

—6.58964 — 5.029381

—4.60471 + 3.198081




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.412032 + 0.5158761
a= 1.082960 + 0.3658981
b= —0.467743 — 0.3143271

u =

0.483129 + 1.2402007

2.11511 — 5.508781

u= 0.412032 — 0.5158761
a= 1.082960 — 0.3658981
b= —0.467743 + 0.3143271

0.483129 — 1.2402001

2.11511 + 5.508781

u = —0.160236 + 0.5797431
a = —1.03520 + 1.133491
b= 10.691220 + 0.7199721

—2.00613 — 0.731271

—7.95587 — 2.975321

u = —0.160236 — 0.5797431
a = —1.03520 — 1.133491
b= 10.691220 — 0.7199721

—2.00613 + 0.731271

—7.95587 4 2.975321

u = —0.532528 4+ 0.1518571
a= 0.891221 — 0.0433891
b= —0.132594 — 0.6838281

—0.60484 + 1.873291

—1.11748 — 3.894881

u = —0.532528 — 0.1518571
a= 0.891221 + 0.0433891
b= —0.132594 + 0.6838281

—0.60484 — 1.873291

—1.11748 4 3.894881

u= 0.494353
a = —2.75136
b= 0.826082

—2.69658

—2.16950




IL. 1Y = (u* + b, a + u, u* +u® +u?+1)

(i) Arc colorings
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(ii) Obstruction class =1

(iii) Cusp Shapes = —5u? — 6u — 5
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! ut —u? +u+ 1

C2,Cg, C7 v ud +3u+2u+1

c3,Cy u?

€4 ut —u? 4 3u? —2u + 1
Ccs W 1
Cs (u—1)*

€10, C11 (u+1)*
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs y4+y3+3y2+2y+1
C2,Cy4,Cq y4+5y3+7y2+2y+1
Cr
€3,C9 y4
4
€8, €10, C11 (y—1)

12



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.351808 + 0.7203421
= —0.351808 — 0.7203421
= 0.395123 — 0.5068441

—1.85594 + 1.415101

—5.13523 — 6.856271

= 0.351808 — 0.7203421
= —0.351808 + 0.7203421
= 0.395123 + 0.5068441

—1.85594 — 1.415101

—5.13523 4 6.856271

= —0.851808 + 0.9112921
= 0.851808 — 0.9112921
= 0.10488 + 1.552491

5.14581 — 3.163961

0.63523 4 2.294711

= —0.851808 — 0.911292]
= 0.851808 + 0.9112921
= 0.10488 — 1.552491

5.14581 + 3.163961

0.63523 — 2.294711
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
! (u* —u +u? + 1) (" — 20+ — 202 — 1)
C2, Co (u* +u® 4+ 3u? + 2u + 1) (u” + 1200 + - — du — 1)
3, Cg ut (u?” — u® 4 - 4 56u + 16)
¢4 (u* —ud 4+ 3u?® — 2u+ 1) (u*" 4+ 120" + - — du — 1)
Cs (u +ud +u? + 1) =20+ — 202 - 1)
cr (u* 4+ u® 4 3u® + 2u + 1) (u*” — 2u® + - 4 692u — 241)
Cs (u—1)H W —5u*® ... —2u+1)
€10, €11 (u+ DY = 5u*® 4 —2u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,cs W' +y° +37 + 2+ (" + 1290+ —dy — 1)
€2, ¢4, Co (' +59° + 797 + 2y + 1) (y*" +48y™ + - + 20y — 1)
€3, Co yr(yhT 4+ 27y + - — 1472y — 256)
cr (' + 5% + 7y° + 2y + 1) ("7 — 124 4 ... — 623952y — 58081)
g8, C10, C11 (y—DH(* — 45y + - — 14y — 1)

15



